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||

Spinning screws

SRIE- 2R EE Y

Equipment magnet screw battery wire

@ = &

Put the magnet ontop of the screw.

@ & AN

Put screwtip onthe bottom of the battery.

95 F N

Put thewire ontop of the battery.

7.3 =S

S0~
Find the other end of the wire.

o 5 O =

Touch the wire onthe edge of the magnet.

S 7 L

Watch the screw spin.
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Think of

Turn over the magnet and

? 3%

Whatis the difference?

o S & =

Touch the wire on the bottom of

§ & &

Touch the wire inthe middle of the magnet.

? *'h S

Does it work as easily?

the magnet.

new experiments

r

TS

try the experiment

Y

again
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Think of new experiments

)
=
=% %

Decorate the screw.

L O &

Get some small bits of paper.

& T

Make some wings or a body.

e- 7T L

Stickit to thescrew with Dblu-tac.
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O

Explanation

¥ e

The battery makes a current.

C + 5 = &

Magnetism and acurrent creates movement.
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N
S
magnet screw

current
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+— O

O
)

op bottom

j/

side middle

$i

same different

. O0@

electricity
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L

Skiffle bass data sheet

P = 7 % N

Listento the note high medium low

%@

thin string

VD

medium string

D

heavy string



I

skiffle bass
¢ f==
QT @ LGB X
Equipment a cardboard wooden box without alid
£ &y
a washer or bead

-

different threads: twine, lightstring, heavy string

60 w &\ =]

60cm strip of wood with ahole atthe end

2 = {3 &y 1D

Tie the washer or bead to the end ofthe string.

@ ,; ¥ OB &

Put the other end ofthestring through thehole in the box.

95 @ @

The washer or bead must be inside the box.
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skiffle bass

F o 2 o BeJs

Thread the other end ofthestring through thehole in the stick.

¥ Do = € ©EH

Pull  the string through soitis thesame as the picture below.

= W0 S

Tightly tie the string to the stick.
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I

skiffle bass

< M Bl =2 @

a frend to hold down the end of the box.

/A /lé @

Press the bottom of the stick down he box

¥ § S = @M

Pull the top of the stick so the string tight.
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I

skiffle bass
Pluck the string and listen th note.

D0
L

@ ——mmD
@ ——m—

D ? @

Tighten the string, Whatis the difference?

Sl /N

loosen the string, Whatis the difference?

/R

Press the  string lower against the  stick.

D= |

The  string iIs  shorter.

’?%ﬂ

note different?

Try a range of notes.

i
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Think of new experiments

) — z@

7Y

Change the thickness of the string.

? $%

What is the difference?
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S

Explanation

YU N

A tight string vibrates faster.

N Gl T EE

A faster vibration makes a higher note.

1D & ° &=

A short string makes a high note.

1D (o) e &E

A thickstring makes a low note.
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string box

bead

washer

e

tie note

A@T&D\

-t

tight loose
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plr

listen vibrate

¢
low
S
/
pull thread

.. ' D

2o

pluck thin string
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Aeroplane engineers

& N

Equipment sheets of paper

Fold the paper in half.

W k-

Fold the corner back.

W -

Fold the edge back.

B ¥ 49 W

Fold the edge back again.

L2 +9  §f

Turn over and fold the same.

W X

Unfold the plane.

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science pl



M

Aeroplane engineers

Bt =t ex 0.

Fold up the endof thewings alittle.

7?7 8 W

What difference does the fold make?

% R == | 1!

Try folding thewings up more.

? 3%

Whatis the difference?

W = = + s Q)

Fold the ends of thewings and the body clockwise.

A 1 [}

Whatis the difference?
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Think of new experiments

N =R

Find a book that shows you howto make paper planes.

& =z X

How much better are these?
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Explanation

T *

Air resistance slow objects when they fall

& R+ N e

Paper is light and has a large area.

B - =

Air resistance means paper takestime to fall

Lh ¥ &S |

A good paperplane can fly alongway while itisfalling.

e —— v . P, W
SR = o = X :

Wing shape causes theair tomove the plane in different directions.

[ P—
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o I —

turn over

air resistance
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P

Fizzics experiment

< | @ @

Equipment large balloon small funnel short  string

Iy

Bottle of very fizzy drink

@ Yu @

Put the funnel into the balloon.

Oy W

Pour fizzydrink into the balloon.

T Q

Quickly tie the balloon.

/
‘v

~~~~~

4 N,

PagPTs

I" \\\\ @
14 AR Y

{1 ]

Ve ]

4 Q4

Shake the balloon tomake the drink fizz.

\l/
N /;
7 N
; 71\
[ J

What happens?
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Think of new experiments

Try  fizzy water.

?7 ¥ %-x

Does fizzy water work aswell.

w @ Q7 © ¢

Try  putting the balloon sink of warm water.

‘ ’ \l/
~N /;
//I\\
[

What happens.
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Explanation

° o> £ CQ
°? @ . = cov
D

thegas in fizzydrinks is carbon dioxide.

- O e %

The gas dissbIVes in  the liquid.

e ige + B N

Shaking causes the gas to fizz out and expand the balloon.
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funnel

warm water

carbon dioxide dissolve

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science p4



=
ila

Invisible treacle data sheet

? Al gl ) Al

O. (") —0 oo =" @ °*
Whichis the slowest? fastest medium slowest

1 &=

One magnet

2 &

Two magnets

3 &

Three magnets



Invisible treacle

Sn |l & | am | or

Equipment copper tube 4 magnets small object

oo = (M &

Touch the the magnet onto the coppertube.

? 9= C

copper magnetic?

no

4
@ ()
yes

4
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Invisible treacle

& 5 =

Hold thetube atthetop soitis vertical.

Y

Drop the small object down the tube.

YA

Doesit fall quickly?

4
@ 4-@»
yes

no

fi2 & | &

Drop 2 magnets down the tube.

<L 112 ® Do ¢

Ask afrend todrop 2 magnets nextto the tube

at the same time.

o?o % i *77%!!

Which magnets fall quickest?
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treacle

Invisible

J2l &£ O & |

——---

the tube while the magnets

Look down
5 — X
=V & - ‘J

Make sure the tube IS vertical.

? 5o

Whatdo yousee?
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Think of new experiments

2R K S S -

Try 4 magnets insteadof 2 magnets.

P 3%

Whatis the difference?

)

N
ésé
Try 3 magnets.

$%

Whatis the difference?

)

@@

Try magnet.

$%

Whatis the difference?

E)

D
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Explanation

B (o) G B ge TP

Magnets create current when moving nearto a metal.

o—»
‘..

oo | N
& —:\6 ; %@

The current slows down the faling magnet.
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magnetic

fast

n

‘

slow down

Widgit Symbols ©Widgit Software 2012 www.widgit.com

copper tube

v

vertical
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\
\
\
@ \
]
/
/
N /
A

half a table tennis ball

\

cocktail sticks

Equipment

Fill the half a table tennis ball with

he S

smooth over the top.

= N\

Poke a cocktail stick

®

s

plasticine

30 de

3 ballsof plasticine

N < o

plasticine.

l O
)
Q+—

in the centre down to

the bottom.
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~~~~~

’ N,
P
TN
14 LY
{1 VY
vy 7 ;
AN Iy,

N #

*****

small

Put one

.
2% 8

Push

4

©

4
yes

,,,,,

*****

Put small
A~ &
N
=& O
Push the top,

4
9
yes

piece of

?

the top, doesit

(o

no

pieces of

does it

o de

AP
FaVG
S22

o/ e
?

«(»

no

bounce back?

plasticine

AR

N,/
é ( V\

N 4

bounce back?

.-

plasticine on the top of

3
O
to the top of

\

the cocktail stick.

the cocktall stick.
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Kelly wobbles

? 0§l
Doesit wobble differently?

no

4
s @
yes

PN
3 @) o)
" O
to the top of the cocktail stick.

Put 3 small piecesof plasticine
A~ &7 1) 2

(23 w "‘v"?‘

::_L:,' Qf O ° é S

Push thetop, doesit bounce back?

no

4
@ (2
yes
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Think of new experiments

o 9

Try the experiment again.

g |\

Use ashorter cocktall stick.

P 3%

Whatis the difference?

@ B B w

Use paper to decorate your Kelly.

-
. h X3

-~

You could decorate your Kelly Ilke a clown.
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Explanation

4 @)
¥ 5= g

Most of the weight is atthe bottom.

~~~~~
s /-~\\\ I
I AYY —

11 s AP
1 L] — .
LY 7y [
N Sewe? O

~,

S22

A small weight atthetop means it bounces back.

Q<
‘ £ 8 L

A big weight atthetop stops it bouncing back.

0 - O
= & A §

Double decker buses have alot of weight low down.

# !
= X e

Buses don't fallover easily!
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half a table tennis ball cocktalil stick

plasticine smooth

bounce back
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\~-—'

medium

Q@ 0

bottom shorter

difference centre
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S

Drop itin

N = 7y

Equipment plastic beaker piece of card

lllll s b

objects must fitin the beaker.

\w‘?\'gﬂé \quﬁ

Sp

Objects

some heavy some light
00,0y himiim 000g [
) — [
some rough some smooth
@ J& L
Put the card ontopof the beaker.
@
@ 28 0
B8
Put an object ontopof the card. N—
Al
I @ \} % ? i
SIowa Pullout the card and se what happens.
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Drop

it in

Try the experiment again.

8 (J 3

Pullout the card quickly.
? -5

[ ]

What happens?
gty
Try all

the objects.

D :
R Qr

& ° @
Put the objects in order:

B w O

LLiin
— 1
Easiest to fit in the beaker first.
';-\ —
X @ ! _|_|_u_+
— N —
Hardest to fit in the beaker last.
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O

Think of new experiments

74 e T

How slowly can you pullout the card?

I

\S—
to get an object in the Dbeaker.

? 8 H}}}%

[
Is it the same all objects.
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Explanation

Smooth objects create less friction.

\KF = : —~E

Heavy objects are harder to move.

4——- -

=0 | 5 U @wW

Heavy and smooth objects fall into the beaker most easily.
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(

beaker card

L

friction
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[ [V
— — 1

rough smooth

easiest to fit hardest to fit
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Rainmaker

& T Q

Equipment Soil cling film sticky tape

":—:—:N\
{7 N

‘ = (@ =
Ny

large clear container small clear container

® &0 ® =

Put the soll in he large container.

o Lie

Make a hole in the soil.

Lo

47 -

’ 'f ~ \‘
I v\
(W 1)
Y 1
Y ey
a4

Put the small container in the hole.

Gy Lk Ao

Make some mountains in the soil.
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with water.

Fill the small container

+ '§ = ?
Dig up a weed and plant it lke a tree.

he |arge container.

Stretch

@ QO T + =

round the cling film and container

the clingfim over

Put tape

v

Make sure there are
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Rainmaker

2 = @ [ a2

Put the container in a warm place.

0 R = e

Onasunnyday put the container in the sunlight.

5

Wait for a few hours.

5 = X 10

Wait afewdays ifit isnot warm.

?7 8 D

Whatdo yousee on the cling fiim?

L.,

Where has it come from?
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O

Think of new experiments

&Ml + £ e

Use dry soil  and wait for

6 D

The drops from

a very longtime.

the cling film m0|sten the soil.

PO 47

This experiment

shows the water cycle.

T 7 A

1
The water cycle explains where rain comes from.
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Explanation

B W) Ly P T

The warmth makes some of the water turninto agas

° o>
°
|
o ©
0o O

The gas IS

Water vapour is invisible.

\/

B ool v

Water becoming is called evaporation.

X+ HA D

The water vapour cannot escape and condenses on the cling film.

B . f

The water fallsto the soil.
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cling film sticky tape

water cycle
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;%%?:—

S

evaporation

condensation

warmth

escape
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o | O © AN

Equipment card sink SCissors pencil

washing up liquid ina small pot

@ﬁk 7

Fold the front corners of the card.

A‘KBzzziT

Cut atriangular piece atthe other end.

(o) = [Ed

Make it like the picture.

e @A

You have a paper boat.

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science pl



Place the boat in the sink.

d A

Dip the point of a pencil in the washing up liquid.

@ [F 6

Use a tiny drop.

ANV <

Touch the pencil to at the back of the boat.

P BTN

What happens?
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O

Think of

1@c G

Ina large sink try again using more washing up liquid.

@ 7 W P

Use a new pieceofcard for each experiment.

LIl -~

& AR ew! AN

Try making the frontofthe boat more pointed.

? them s @25 &

What can you do tomake the boat a long way?
? ﬁ'ﬁ (o) <a B 2
How can make the boat move further?
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Explanation

5 B = =

The surface of water is like a skin.

4= =

The skin is stretched.

WA &

Washing up liquid tears the skin atthe back of the boat.

I U Ry Ny

The  skin pulls the boat forward.
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card

sink washing up liquid

pencil fold

boat
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front back

skin point

L[]

forward

water surface
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/

*

*

3

Light entertainment

S

AR

Equipment white  paper blu-tac sticky tape
filter green filter
_\df
2 % =
\ o
2 torches, equally bright.
N Ly 39\
® @ ‘S - QD
SO ’ 1 @ @
Carefully fasten the red fiter to one torch with sticky tape.
W. o~ ge U
Carefully fasten the green fiter to the other torch.
f EHe
& i
Find a wall in a dark place.
Fasten the white paper to wall.

O
G 2]
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Light entertainment

~; @~ &

Shine the red torch on the paper.

“;, @ e~ &

Shine the green torch on paper .

X 3+ 0 + @y

Do not overlap the green and red beams.

I

Y —
||Q||Wﬁ 1T ® + 0y

Next, try overlapping the green and red beams,

? +3

Whatdo you see?
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O

Think of

Look through the red (filter.

O 0

Look through the green filter.

S D 14 &l L

Now put one fiter infrontof the otherfilter.

30 33l

Look through both filters.

? +4

Whatdo you see?
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Explanation

Shining both torches youcan see both colours.

® @+ O

The humaneye sees red and green as yellow.

0@@060

red fiter allows red light through.

o: 1 Lo ) o

A green filter allows green light through.

S50V X

Both filters stops most light.
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filter red

ray of light
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n

colours

through

overlap

n
both filters
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Colour split

N IEZRIESAIRCAIR |

Equipment felt pens container tissue water

7\ ) e 4 @

Draw coloured dots alongthe edge of the tissue.

Ne N

Draw six dots of different colours.

v ® - = ~
Fill  container with water. . s B s o B
Q«—
5 & 8
O

Hold the tissue at the top.

g ¥ @ |

Dip theedge of thetissue in the water.

d &

Dip thetissue for several seconds.
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N Qe

Colour split

e —-— \\l//
J2 O = !

Watch  what happens as water rises up.
° ‘*’ﬁ .
Is this  quick or slow?

@ &8 ¥

Put the tissue he table.
? +3
. Jd
What do ou see?

? Il

Have the colours changed?
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Think of new experiments

2P g@®

Watch paint being mixed in a DIY store

?7 A ﬁ% B

Are the colours what expect?

? e fhE M@ @

What happens when mix coloured paints in  Art Class.

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science p3



Explanation

~AF L F E oA

Colours are mixed tomake afelt-tip have aspecial colour.

= —— Q7
Sl A § o S A
Different colours mixed together looklike a new colour.
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®

tissues

:'/

edge

3

touch
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Noisy cutlery

& 25 \ 25 J

Equipment metal fork metal spoon

I@“‘

\éf/

Use

&

Wrap

5

Wrap

e X\ w S

plastic fork plastic spoon
N/ &.& N @
o
piece of string aslong as your sticky tape

x _'{ O®0

thefork to the middle of the string. —
Q -8 =

stickytape to hold it tight.

2 Qo

one end of thestring around your first finger

3 20 MW

the other end around the firstfinger of yourother hand.
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Noisy cutlery

A I
/ ,

Swing the prongs against the edge of a table.

P~ ) )

Listen to the sound it makes.

SR M@y )

Now put vyour fingers in both your ears.

P

Keep the string attached.

N+ o TN

Knock the prongs against the edge of the table again.

? $%

What is the difference?
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Think of

new experiments

WA %?; aD g? /

the experiment with the metal spoon

? £

What is the difference?

IR AN

try with the plastc fork and

? $%

What is the difference?

spoon

o

PL ®§Xz@

the experiment with different

@ 2 + 2

Try  thinstring and

string.

thick string.
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Explanation

L5

Sound travels through solids best.

2 s )

Sound travels well through string

Bt 9 O

Sound travel badly through air.

Lh @2 =< e )

Some objects give out more sound.

p N ww! y

Some objects vibrate more easily.
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5

listen prongs

-

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science p5



—
—

\

first finger vibrate

n

solid

2.

thick string

thin string
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PH ?

Investigation 1: Teabag trouble

Qgﬁ 3 3 =\

Equipment 3 glasses 3 clippits

teaspoon kitchen roll
& <J
=
j-cloth newspaper material

D Mh=em 5

Imagine you have no tea bags.

D oa @

Mum's friend is coming at teatime.

W ® &

You have Iloose tea.

=

You do not have a tea strainer.

?7 M & 9w

Can you make tea bags?

A ® & & 0w

Which material is best to make tea bags?
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Making teabags

R & QD

Put ateaspoon of I|oosetea inthe middle of a piece of kitchen roll.

w© &

Fold up the edgesaround the loose tea.

¢S+ 8 we @

aclippit and fasten the I|oosetea inside the kitchen roll.

oW X e

Itisimportant the loosetea cannot escape.

e g+ B

Repeat using the j-cloth and the newspaper.

SIh#3

Now You have teabags.

Ry &

Carefully fill 3 glasses with hot water.
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A

The experiment

= 4 I S

Lilll
Cip a peg to the top of each teabag.

&P 2 AR =z

Ask two friends to help

U AR m

Give each friend a teabag and glass.

TN ) éﬁ]
) %y
Dip the teabags in the hotwater.

Yo wm 1)

Dip the teabags for

about a 1 minute.
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A

experiment

Remove the tea bags.

X» ¢

Do not drink the

\_Q_

tea!l

. 5 = [

teabag isthe darkest colour?

hich

5 W
Did any teabags Ileak?
2

@i@

Try other materials.

?7 Q@ & [

What material

’)

makes the best teabag?

G A +® X B v

The shop opens and mum dashes to buy proper tea bags.
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O

Think of new experiments

Cr

7 w QW A & B

[
Why are some materials are better for making tea bags?

? M e

Can you explain?

? e A @ &

Can you think of better materials to use?

IN e

Design a poster showing your experiment.
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loose tea teabag

peg

tea strainer
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teaspoon hot water

kitchen roll material

e

leak

strongest colour

don't drink

. . L . ) Investigation 1- teobag trouble p7
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Teabag

X!

E=
ila

trouble data sheet

Fo W = Al

Which material IS

9

kitchen roll

&

j-cloth

|3

newspaper

«

material

best?

N

light colour

i

medium colour

ok

dark colour



P2 A

w“ .

Investigation 2: Super spinners

& &, &

s A

Equipment template to make tray template to make spinner

g

paperclips scissors

3= —
tht ¥ =

Many things fly through the air.

D_a ‘Sl >—>
=
|

Aeroplanes, helicopters and gliders can fly.

o = Lx + o =

Animals like birds and insects canfly.

= 9 =

Air is important for flight.

—_— >—>
— je—
means flight.

ﬁ% \'0 \% B (@

You will learn about thlngs moving in the air.

Q

sticky tape
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Experiment 1

21 @&

Hold

P
=
1 piece of paper

i@

Drop the paper.

? -m

//I\\

flat.

happens?

@ D @+ 1 n

Scrunchup the paper abit and dropit again.
\\I//
,) B
[ ]
What happens?

Scrunch the paper tightly.

? b L 48

Does the paper fall differently?
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Experiment

& &
% =/
Lookat the tray template.

wl e

Carefully cutalong the dotted lines.

NS S

Fold along the straight lines.

w .

Fold the corners.

@ Q = A

Put sticky tape tofasten the corners.

Make vyour tray like the picture.
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M1

Experiment 1

B v i=H

Hold the tray the

rightway up like the picture.

=4

Drop the tray.

75 | 8 O

Does thetray fall differently to the piece of paper?

& 1 & L

Try dropping the tray

? 38

Whatis the difference?

upside down.
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Explanation

faling objects.

Air resistance affects

Paper a large area.
g&% ‘ & R
is large and the paper is light.

The air resistance

o) 4
falls slowly.

The piece of paper

o~

YN /j%’ © @ o0
touching the air.

smaller area

&

Scrunched up paper

@ l:l‘/.:;‘:l

The airresistance is smaller.
Ob | $

) * ¢

f“@"\
falls faster.

The scrunched up paper
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Explanation

b & v 1

Dropping the tray the rightway up.

‘//// o (¥

g

The air can flowsmoothly past the edges.

—
= —
==
\/

The tray is streamlined.

o =

The tray falls smoothly.

& X 1

The tray doesnot wobble.

7 L)

Dropping the tray upside down.

T

Air istrapped underneath.

% IZI=J>IZ| = M

The air tries to escape causing the tray to wobble.

& oL &

The tray might turn over during the fall.

Sl
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g

ldeas to talk about

Pt ) 4 =

air resistance area streamlined

-+ - =C 2
I =———

Cars, planes and bikes are streamlined.

&+%'—J—’El*ﬁ0

Cars, planes and bikes canmove fast through air easily.

L @

Think about cyclist's clothing.
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Experiment

Cutout the medium spinner.

© = [

Fold it like the picture.

@ ) 3.

a papercllp at the bottom.

bk

Drop it from ahelght

Mﬁ@ﬁ&@" 4 &

must ask before climbing on furniture.

L ¢

Watch the spinner during the fall.
»h Y

A SR
Try it several times.

? I

Does it spin?

?7 = &

Does it start spinning straight away?

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science p8



P 2

Experiment 2

N € @ #

Repeat the using the large spinner.

SV v/ S Tt $8

Make sure you lookfor all the differences.

YR < T

Write down  all the differences you can.

B N g . aq

Try again using the small spinner.

o?o % =é!!

Which spinner is best?

P 2 K

Can you improve the spinners?
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Think of

new experiments

N 00 —>{ 3

Q+—
Add more paperclips to the bottom.
le (@)

[e"] @5 g N
Try cutting the wings smaller.

pry \CJ
Try more experiments.

? ‘ ‘5
o'e : —§ ” + Z@l
Which spinner falls the

slowest and spins well?

R

% g=

il
Write down the results.
O @

OR

LR A 4
; ®eo wey T JAZEN
Tell other people the results

and demonstrate your spinners.
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Explanation

? 4 L

Why does the spinner spin?

SR = I- v/ oio

The wings are on diagonallyopposite sides of the middle.

1= =

The airresistance pushes the wings in opposite directions,

s Ff L &

causing the spinner tospinaround the centre.

D2 a4 i

Imagine 2 people pushing either side of a roundabout.
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spinner

paperclip sticky tape

A

tray scrunch
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Hit

air resistance

streamlined

escape turn over

wing opposite directions
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Group work 1: Slippery slopes

<o | N Q

Equipment card

ruler compass parcel tape

] =

scouring sponge paperback book plastic cup

two pieces of wood measuring:

2 <@ 30 X 12 X 1 mm

cm

e cm
1 @ 3X45 X 8 mm
1 piecesof wood measuring: 3 X 4.5 x 8 cm

24 P AN

Atwhat angle do objects slide down

Iy

During this experiment

a slope?

you will  find out.
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S N

Make the slope

4_

® = 2 @ -

Put the ends of the two pieces of wood

g Q = o @
i together.

to join the wood

Use strips of parcel tape
b Q = | +& 4

pressed down and sticks well.

Make sure the tape is

Q W &

The parceltape makes a hinge.

W1 @ A

one piece of wood back.

Fold

Widgit Symbols ©Widgit Software 2012 www.widgit.com British Science Association Super Science p2



oy

Lol

Steepness scale

P

This experiment measures

lll -~

4 = Dp A

Laaaaal

steepness of aslope when an object slides.

<& N @0 [T

a compass todraw abig circle on

K/@@ Q

Draw a line across the centre of the circle.

card.
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N O il 2 o

Make marks along the edge ofthecircle every 2 cm.

4 O

Mark a quarter of the circle.

R

This Is asteepness scale.

& m KX« = B

Use theruler tomark accurately Ilike the picture.
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Putting together the apparatus

o/ op =7

the apparatus is tricky.

Putting together

®@\JQ+@

Fold the card under thewood and propitup.

S o § @

The line through the circle must line up with the top of the wood.

VA N N T S~

your apparatus lookslike the picture.

Make sure
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A

The experiment

@ » & @

Put anobject ontop of the wood.

ADNE @ G <«

Slowly Lift thetop pieceofwood tomake a slope.

BN o I A

You must lift

the wood very slowly.

o o~

When the object startsto slide,

4 o+ OF
look at the

steepnessscale and remember the number.

a W fE 3x

each experiment three times.

§ A e

DeC|de the best number

Il -~

and filin the datasheet.
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A

The experiment

w 3 B + &£

Try different objects and fillin the data sheet:

B
o

Try the paperback book.

=

Try the plastic cup.

® & =x

—
scouring sponge on the rough side

® f =x

=

&

)

4

=
<

the

B
4

[

Try the scouringsponge on the smooth side.
/—\ /
2 I

Try the blockofwood on the thick edge.
/—\ /
A | |

Try the block of wood

on the thin edge.
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Questions

? & 2 & P

What is interesting about the two block of wood experiments?

@ n “
a7 e

Which objects slide easily.

2 B X &0

Which objects donot slide easily

lll -~

il

<7 A =%

when would slipping on aslope be useful

< A = A

When would slipping on aslope be dangerous?

id

®

o

Think about activities iINn  mountains.

N A h:

Where else would slipping on aslope a problem?
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Results poster

& E M

Make a poster showing your results.

£ Bg A %,

Write about places where slipping on aslope s useful.

£ bg & )= A

Write about places where slipping on aslope is dangerous.

A

& A E A

Make you poster colourful.
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objects slide

card paper

compass

piece of wood block of wood
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scouring sponge plastic cup
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o
circle angle

paperback book steepness scale
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data sheet slope

prop

thick

:'/

edge strips of tape
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Slippery slopes data sheet

A

Losaaal
Steepness scale

==V |1234567809

scouring sponge smooth  side

¥ |123456789

scouring sponge rough side

)

23456789

paperback book

23456789

ﬁ

plastic cup

@ " 1123456789

block of wood thick edge

@ " 11234567809

block of wood thin edge

I




X,

Slippery slopes data sheet

A

Losaaal
Steepness scale

S123456789
S123456789
S123456789
S123456789
]

123456789



o 4

Group work 2: Slipping slopes

& 7 “o YN

apparatus card torch paper

=
E
jug sugar
)
[CERTILS
o,
lentils flour

i S

How high can make a heap?

M & Q @ ¢ O

Youwil make aheap wusing different materials.
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A

The experiment

Put the couscous into the jug.

T O >

Very gently pouronto a sheet of paper.

& & L

Try tomake the highest heap.

®w O + & 0

Fold a pieceofcard and propitup behind the heap.

@\oi{ O+ O

a torch levelwith the heap and the paper.

M 2 O Jd A &

You should see the heap shadow onthe paper.

@ s
K p)
Carefully draw around the shadow.
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A

The experiment

" M e BS

Repeat the experiment using sugar, Flour, Rice,

0,
=00

lentils.

2 ) Al O

Which makes the steepest heap?

? W  AA

Which makes the most pointed heap?

L=

Experiment using other

materials.
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Wl G

Results poster

W B % HE

Make a poster showing your results.

2 J m - [

Put the shadow drawings onthe poster.

Write about the experiment.

@ a8 T A £

Think about places where slopes slip down.

@ & AN £

Think about when slopes slip down.

A & At &l

Find information about the Aberfan Ilandslide.
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draw
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shadow

COUuUSCOuUs

LENTILS

lentils
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Z
g

materials avalanche

ml

landslide highest

prop pointed
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4\ B=
X :

Slipping slopes data sheet

L of

Heap  steepness

o
® o
"
o
material order
= 2

couscous

OO
EEEEN
EEEEN!
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